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QUESTION 1

You are asked to design a Layer 2 VPN service between service provider networks that needs Ethernet transport
capabilities. The VPN should support two or three endpoints. Which Layer 2 VPN technology should you propose?

A. LDP-signaled VPLS

B. BGP-signaled VPLS, using the RFC 4448 Layer 2 frame format
C. LDP Layer 2 circuit, using the RFC 4448 Layer 2 frame format
D. BGP Layer 2 VPN

Correct Answer: B

QUESTION 2

Click the Exhibit button.
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The IGP is IS-IS. R2 has configured its loopback interface in Level 2 only. Referring to the exhibit, which statement is

true?

A. R2 advertises its loopback address to all L1 adjacencies.

B. R1 cannot reach R2\\'s loopback address.

C. R1 uses a default route to reach R2\\'s loopback address.

D. R1 automatically selects R2 as the default gateway to reach R2\\'s loopback address.

Correct Answer: C

QUESTION 3

-- Exhibit
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-- Exhibit -Click the Exhibit button. Each router in the exhibit is receiving three copies of the same I1S-IS LSP from the
other three routers in

the topology. The additional copies of the IS-IS LSPs are causing additional processing overhead on each router. You
want to reduce the overhead required to process the additional copies of the same IS-IS LSP. Which feature
accomplishes this task?

A. Configure traffic engineering.

B. Configure mesh groups.

C. Lower the CSNP interval.

D. Increase the SPF delay.

Correct Answer: B

QUESTION 4

You have recently deployed an MPLS network using CSPF with its default settings. Which statement is true regarding
path selection when multiple candidate paths exist?

A. The path selected will be based on the most-fill bandwidth ratio.
B. The path selected will be based on the least-fill bandwidth ratio.
C. The path selected will be based on a randomized algorithm.
D. The path selected will be based on the first-hop LSR\\'s RID.

Correct Answer: C
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QUESTION 5
-- Exhibit
CE1l PE1 PE2 CE2
192.168,1.1 192.168.1.2
-- Exhibit -

Click the Exhibit button.
Referring to the exhibit, you see the proper BGP, MPLS, and routing instance configuration for PE1 and PE2.

Which configuration on PE1 will allow CE1 to communicate with CE2 over a Layer 2 VPN, assuming PE2 has PPP TCC
encapsulation on so-0/0/0.0?

A. [edit interfaces fe-0/2/2 unit 42] family tcc { proxy { inet-address 192.168.1.2; } remote { inet-address 192.168.1.1; } }
B. [edit interfaces fe-0/2/2 unit 42] family tcc { remote { inet-address 192.168.1.2; } }

C. [edit interfaces fe-0/2/2 unit 42] family tcc { proxy { inet-address 192.168.1.1; } }

D. [edit interfaces fe-0/2/2 unit 42] family tcc { proxy { inet-address 192.168.1.1;

} remote { inet-address 192.168.1.2; } }

Correct Answer: A
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